From now on, assume A is finite. Label the elements of A as {1, 2, 3, ..., n} these are the things being permuted, not the permutations. Sn denotes the permutation group of A Note: $|S_n| = n(n-1)(n-2) - - 3 \cdot 2 \cdot 1 = n!$

Notation / Example
Sy = Epermutations of
$$\{1, 2, 3, 4\xi\}$$

 $Ex \quad \alpha, \beta \in S_4$
 $\alpha(1) = 4 \quad \alpha(2) = 3 \quad \alpha(3) = 2 \quad \alpha(4) = 1$
 $\beta(1) = 2 \quad \beta(2) = 3 \quad \beta(3) = 1 \quad \beta(4) = 4$
a permutation
e.g. $(\alpha\beta)(2) = \alpha(\beta(2)) = \alpha(3) = 2$.
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
a permutation
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
a permutation
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
a permutation
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
a permutation
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $\alpha permutation$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(3) = 1$
 $(\beta\alpha)(2) = \beta(\alpha(2)) = \beta(\beta(3) = 1$
 $(\beta\alpha)(2) = \beta(\alpha(3)) = \beta(\beta(3) = 1$
 $(\beta\alpha)(2) = \beta(\beta(3$